Warm-Up
Determine the Domain, Vertical Asymptotes, and
Holes of the following:
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| can...

¢ Determine Horizontal Asymptotes of Rational

Functions

¢ Determine Slant Asymptotes of Rational
Functions V A

Holes



Horizontal Asymptotes
“Top Rotem
Compare the degree of Numerator vs Denominator

3 Cases o .
Legree HA. (y=)

1) Top = Bottom Fraction of Leading Coefficients

2) Bottom > Top y=0
3) Top > Bottom No H.A (Could be Slay
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1.) f(x)=_3@+6x+9 H A o\\“ B:__%
" f(x)=—3@§—9+31+18 HA or y=0

3) 1y B _2x% —8x Ao H-A-_

" 4094 12x+ 8



Examples
3@
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Slant Asymptotes

e Occur when the Numerator is one

degree higher than the Denominator

To Find:

e Use Long Division (or Synthetic)
¢ |gnore the Remainder

e S A.is y = Quotient
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3x° + 2x°

Ex.6  f(x)=

x> —Tx+5









